
HOME SCIENCE (HONOURS) PAPER -2 

DIETETICS 

 

1. ew= esa izksVhu vkuk fdl chekjh dk y{k.k gS& 

¼d½ Vk;QkbM  ¼[k½ o`Ddh; jksx 
¼x½ ,FkzksLDySjksfll ¼?k½ vYlj 

 

2. vks0vkj0,l0 is; cukusa ds fy, bls fdlds lkFk feykuk 
pkfg,& 

¼d½ nw/k   ¼[k½ lwi 
¼x½ twl   ¼?k½ dksbZ ugha 

 

3. vUr%lzkoh iz.kkyh ls lacaf/kr vkydy lcls vke jksx 
gS&n 

¼d½ e/kqesg  ¼[k½ o`f) fodkj 
¼x½ ySafxd fodkj ¼?k½ iztuu 

 

4. ihfy;k jksx “kjhj ds fdl vax ls lacaf/kr gS& 

¼d½ g`n;  ¼[k½ QsQM+s 
¼x½ ;d`r  ¼?k½ efLr’d 

 

5. eksVkik dk dkj.k gS& 

¼d½ de O;k;ke  ¼[k½ vf/kd [kkuk 
¼x½ nksuksaa d ,oa [k ¼?k½ de [kkuk 

 

6. cq[kkj dh voLFkk esa ejht dk Hkkstu gksrk gS& 

¼d½ de izksVhu  ¼[k½ vf/kd dSyksjh 
¼x½ nksuksaa d ,oa [k ¼?k½ buesa ls dksbZ ugha 

 

7. iqjkusa o laxhu xqnkZ jksx ds ejht dks fuEu izdkj dk 
vkgkj fn;k tkuk pkfg,& 

¼d½ vf/kd izksVhu ;qDRk ¼[k½ de izksVhu ;qDr 
¼x½ vf/kd dkcksZt ;qDr  ¼?k½ de dkcksZt o vf/kd 

dSyksjh ;qDr 

 

8. tc feryh] mYVh xSl vkSj nLr dh ihM+k gks rc D;k 
nsuk pkfg,& 

¼d½ nzo vkgkj  ¼[k½ iwjk rjy vkgkj 
¼x½ gYdk vkgkj  ¼?k½ ikjn”kZd vkgkj 

 

9. {k; jksx ds jksxh dks dkSu lk Hkkstu nsuk pkfg,& 

¼d½ fepZ elkysnkj ¼[k½ nw/k 
¼x½ mcyk Hkkstu  ¼?k½ vaMk ekal vkfn 
 
 

1. Protein coming in urine is symptom of which 
disease- 
(a) Typhoid  (b) Kidney disease 

      (c) Atherosclerosi  (d) Ulcer 
 
2. What should be mixed with ORS?- 

(a) Milk  (b) Soup 
      (c) Juice   (d) None of these 
 
 
 
3. The most common disease of the endocrine system 

these day is- 
(a) Diabetes  (b) Growth disorder 

      (c) Sexual disorder  (d) Reproduction 
 

4. Joundice is related to disease which organ of the 
body? 
(a) Heart  (b) Lungs 

      (c) Liver  (d) Brain 
 
5. Obesity is due to- 

(a) Less exercise (b) Increase intake 
      (c) Both a & b  (d) Low intake 
 
 
6. During fever which diet should be given- 

(a) Low protein (b) High calorie 
      (c) Both a & b (d) None of these 
 
 
7. In chronic kidney disease the diet administered to 

the patient should be- 
(a) High protein (b) Low protein 

      (c) High carbohydrate 
      (d) Low carbohydrate and high calorie 
 
 
8. In case of nausea, vomiting, gas-formation, 

diarrhoea give- 
(a) Liquid diet (b) Full fluid diet 

      (c) Soft diet   (d) Clear liquid diet 
 

9. Which food should be given to patient of 
tuberculosis? 
(a) Mirch Masala (b) Milk 

      (c) Boiled food  (d) Egg, meat etc



 

 

10. {k; jksx ds jksxh dks dkSu lk oLrq gkfu igqWapkrh gS& 

¼d½ ekSleh jl okys Qy ¼[k½ fepZ elkysnkj Hkkstu 
¼x½ nw/k   ¼?k½ nky&jksVh 

 

11. jksx dh voLFkk esa Hkkstu nsuk pkfg,& 

¼d½ Bksl  ¼[k½ rjy 
¼x½ dksey  ¼?k½ lqikP; 

 

12. xqnsZ ds jksxh dks nsuk pkfg,& 

¼d½ nky dk ikuh ¼[k½ tkS dk ikuh 
¼x½ vke dk iUuk ¼?k½ dPpk dsyk 

 

13. jksxh ds “kjhj esa fuEu dh deh ugha gksuh pkfg,& 

¼d½ Hkkstu  ¼[k½ olk 
¼x½ ikuh   ¼?k½ izksVhu 

 

14. vfrlkj ds jksxh dks fdl izdkj dk vkgkj nsuk pkfg,& 

¼d½ mPp izksVhu;qDr ¼[k½ mPp js”ks;qDr 
¼x½ uje rFkk rjy vkgkj¼?k½ mcyh nky 

 

15. dkcksZgkbM~sV ds vf/kd lsou ls gksrk gS& 

¼d½ osjh&osjh  ¼[k½ e/kqesg 
¼x½ risfnd  ¼?k½ ,uhfe;k 

 

16. detksjh “kh?kz nwj djusa ds fy, fiykuk pkfg,& 

¼d½ pk;  ¼[k½ dkWQh 
¼x½ Xywdkst            ¼?k½ nky dk ikuh 

 

17. LoLF; euq’; fdlls eqDr gksrk gS& 

¼d½ jksxh  ¼[k½ fpUrk 
¼x½ /ku   ¼?k½ Hk; 

 

18. dCt dk izdkj ugha gS& 

¼d½ ejksM+ okyk dCt ¼[k½ euksoSKkfud dCt 
¼x½ fujarj eyc)rk ¼?k½ lkekftd dCTk 
 
 
 
 
 
 
 

10. Which food is dangerous to the patient of 
tuberculosis? 
(a) Citrus fruits (b) Mirch masala food 

      (c) Milk   (d) Dal-Chapati 
 
11. In condition of disease, patient should be given- 

(a) Solid  (b) liquid 
      (c) Soft   (d) Digestable 
 
 
12. Which food should be given to patient of kidney- 

(a) Water of dal (b) Water of Barley 
      (c) Aam panna (d) Raw banana 
 

13. Kidney patient’s body should not have deficiency of- 
(a) Food  (b) Fat 

      (c) Water  (d) Protein 
 
 
14. What food should be given to the patient of 

diarrhea? 
(a) High protein rich (b) High fibre rich 

      (c) Soft and liquid diet (d) Boiled pulses 
 
15. Excess intake of carbohydrate cause- 

(a) Beri-beri  (b) Diabetes 
      (c) Typhoid   (d) Anaemia 
 
 
16. To get instant relief from weakness, we should take- 

(a) Tea  (b) Coffee 
      (c) Glucose  (d) Water of dal 
 
 
17. Healthy person is free from 

(a) Patient  (b) Anxiety 
      (c) Money  (d) Fear 
 

18. Constipation is not a type of - 
(a) Torsional constipation  
(b) Psychological constipation 

      (c) Continuous solidification  
      (d) Social constipation



 

 

19. rhoz Toj fdl jksx esa ugh gksrk gS& 

¼d½ {k; jksx  ¼[k½ tqdke 
¼x½ Vk;QkbM  ¼?k½ mi;qZDr lHkh 

 

20. jksx dh voLFkk esa vkgkj O;oLFkk dk eq[; mn~s”; ugha 
gS& 

¼d½ Lokfn’V Hkkstu nsuk ¼[k½ larqfyr Hkkstu nsuk 
¼x½ iks’k.k dh deh dks nsj djuk 
¼?k½ lkekU; iks’k.k dks larqfyr djuk 

 

21. V~;wc }kjk jksxh dks Hkkstu djk;k tkrk gS& 

¼d½ lkekU; vOkLFkk esa ¼[k½ cq[kkj esa 
¼x½ tc jksxh eqaag }kjk Hkkstu ysusa esa vleFkZ gks     
¼?k½ mi;qZDr lHkh esa 

 

22. e/kqesag jksx esa jDr dh ek=k c<+ tkrh gS& 

¼d½ Xywdkst dh  ¼[k½ “kdZjk dh 
¼x½ Xykbdkstu dh ¼?k½ MkblSdjkbM dh 

 

23. batsD”ku }kjk jksxh dks Hkkstu fn;k tkrk gS& 

¼d½ vYlj gksusa dh fLFkfr esa   
¼[k½ ;d`r ds dk;ksZ esa vojks/k vkusa ij 
¼x½ rhoz ladze.k ij ¼?k½ mi;qZDr lHkh esa 

 

24. U;wt Hkkj ¼nqcZy½ ds O;fDr;ksa dks vkgkj esa vf/kd xzg.k 
djuk pkfg,& 

¼d½ izksVhu  ¼[k½ dSyksjh 
¼x½ [kfut yo.k  ¼?k½ foVkfeu 

 

25. iw.kZ rjy vkgkj ugha gS& 

¼d½ nw/k   ¼[k½ nfy;k 
¼x½ lwi                ¼?k½ ckysZ dk ikuh 

 

26. mPp jDrpki dk y{k.k ugha gS& 

¼d½ Li’V :i ls fn[kkbZ iM+uk¼[k½ flj esa nnZ 
¼x½ th fepykuk  ¼?k½ uhan dh deh 

 

27. vfrlkj jksx ds jksxh dks vkgkj esa dkSu ls HkksT; inkFkZ 
ugha nsus pkfg,& 

¼d½ izksVhu;qDRk  ¼[k½ dSyksjh;qDRk 
¼x½ js”ks;qDr  ¼?k½ buesa ls lHkh 
 

19. High fever is not in which disease- 
(a) Tuberculosis (b) Common cold 

      (c) Typhoid   (d) All the above 
 
 
20. Which of the following is not the main objective of 

food arrangement during the condition of disease- 
(a) Give tasty food (b) Give balance food 

      (c) Discard the lack of nutrition   
      (d) Balance of normal nutrition 
 
 
21. Patient is served food in with tube in which disease- 

(a) Normal condition (b) In fever 
      (c) When patient is incapable in intake food by 

mouth  
      (d) All the above 
 
22. Amount of blood is increase in diabetes disease- 

(a) of glucose (b) of sugar 
      (c) of glycogen (d) of disaccharide 
 
 
23. Food is given to patient by injection- 

(a) In condition of ulcer  
(b) Obstruction in function of liver 

      (c) Accute fever (d) All the above 
 
 
24. What should be taken excess in underweight 

persons- 
(a) Protein  (b) Calorie 

      (c) Mineral  (d) Vitamin 
 
 
25. Complete liquid diet is not- 

(a) Milk  (b) Daliya 
      (c) Juice  (d) Water of barley 
 
 
26. Symptom is not of high blood pressure- 

(a) Clear vision (b) Headache 
      (c) Getting nausea (d) Lack of sleep 
 

27. Which food should not be given in diet of patient of 
diarrhoea disease? 
(a) Protein rich (b) Calorie rich 

      (c) Fibre rich  (d) All the above



 

 

28. ikSf’Vd vkgkj ds vHkko esa “kjhj esa fdldh {kerk de 
gksusa yxrh gS& 

¼d½ dk;Z  ¼[k½ lfdz;rk 
¼x½ izfrjks/kd  ¼?k½ buesa ls dksbZ ugha 

 

29. vf/kd izksVhu okys vkgkj dh vko”;drk ugha iM+rh gS& 

¼d½ dqiks’k.k esa  ¼[k½ ejLel esa 
¼x½ Dokf”k;jdj esa ¼?k½ ihfy;k esa 

 

30. eksVkis ds fodkj ds fy, mRrjnk;h dkjd ugha gS& 

¼d½ vk;q  ¼[k½ oa”kkuqdze 
¼x½ O;olk;  ¼?k½ vUr%lzkoh dkjd 

 

31. xaHkhj jksxh dks Hkkstu djkusa dh fof/k gS& 

¼d½ pEep }kjk  ¼[k½ Bksl Hkkstu }kjk 
¼x½ rjy Hkkstu }kjk ¼?k½ V~;wc }kjk 

 

32. de izksVhu;qDr vkgkj dh vko”;drk ugh gksrh gS& 

¼d½ ihfy;k esa  ¼[k½ dqiks’k.k esa 
¼x½ gSisVkbfVl esa ¼?k½ ok;jy esa 

 

33. e/kqesag ,slk jksx gS ftlesa “kdZjk fudyusa yxrh gS& 

¼d½ eq= }kjk  ¼[k½ Fkwd }kjk 
¼x½ jDr }kjk  ¼?k½ ey }kjk 

 

34. mRre iksf’kr O;fDr dh fo”ks’krk gS& 

¼d½ “kkjhfjd g̀’V iq’Vrk ¼[k½ deZBrk 
¼x½ de Fkdku          ¼?k½ buesa ls lHkh 

 

35. ,d LoLFk O;fDr ds “kjhj dk rkidze fdrusa QkjsugkbV 
gksrk gS& 

¼d½ 90-5˚F  ¼[k½ 98-6˚F 

¼x½ 100˚F  ¼?k½ 100-5˚F 

 

36. rhoz ,d de le; okys cq[kkj dkSu&dkSu ls gksrs gS& 

¼d½ ¶yw] ok;jy  ¼[k½ Vk;QkbM] {k;jksx 
¼x½ d rFkk [k nksuksa ¼?k½ mi;qZDr esa ls dksbZ ugha 
 
 
 
 
 

28. Which capacity of body is reduce in the lack of 
nutritious diet? 
(a) Function  (b) Activity 

      (c) Immunity  (d) Non of these 
 
 
29. Protein rich food is not needed- 

(a) In malnutrition (b) In Marasmus 
      (c) In Kwashiorkor  (d) In jaundice 
 
 
30. Which factor is not responsible for disorder of 

obesity? 
(a) Age  (b) Hereditary 

      (c) Occupation (d) Endocrine factor 
 
31. Severe disease patient is given food by which 

process? 
(a) By spoon  (b) By solid food 

      (c) By liquid food (d) By tube 
 
32. Less protein rich diet is not needed in- 

(a) Jaundice  (b) Malnutrition 
      (c) Hepatitis   (d) Viral 
 
33. Diabetes is a disease, in which sugar comes from? 

(a) By urine  (b) By saliva 
      (c) By blood  (d) By stool 
 
 
34. Characteristics of a well nourished person is- 

(a) Physically strong (b) Diligent 
      (c) Less fatigue (d) All the above 
 
 

35. What is the F˚ body temperature of healthy person- 
(a) 90.5 °F  (b) 98.6 °F 

      (c) 100 °F  (d) 100.5 °F 
 

 

36. What is actute short duration fever? 
(a) Flu, Viral  (b) Typhoid 

      (c) a and b  (d) None of these



 

 

37. {k; jksx ls lcls vf/kd dkSu ls vax izHkkfor gksrs gS& 

¼d½ gfM~M;kW  ¼[k½ vkWars 
¼x½ QsQM+s  ¼?k½ ilfy;kWa 

 

38. Toj esa fdldk Hk.Mkj dze”k% ?kVrk tkrk gS& 

¼d½ olk   ¼[k½ Xykbdkstu 
¼x½ [kfut yo.k  ¼?k½ izksVhu 

 

39. Toj esa fdldk p;kip; c<+rk gS& 

¼d½ dkcksZgkbMªªsV  ¼[k½ olk 
¼x½ d vkSj [k nksuksa ¼?k½ izksVhu 

 

40. {k; jksx esa Toj gksrk gS& 

¼d½ rst   ¼[k½ gYdk 
¼x½ lkekU;  ¼?k½ vlekU; 

 

41. fdl ikSf’Vd rRo ds [kkusa ls Xykbdkstu ds Hk.Mkj dh 
iwfrZ gks tkrh gS& 

¼d½ olk   ¼[k½ foVkfeu 
¼x½ izksVhu  ¼?k½ dkcksZgkbMªªsV  

 

42. eksrh>jk jksx fdl vax ls lacaf/kr gS& 

¼d½ QsQM+s ls  ¼[k½ NksVh vkWar ls 
¼x½ gzn; ls  ¼?k½ vkWa[kks ls 

 

43. fdl jksx es larqfyr vkSj ikSf’Vd Hkkstu vR;Ur vko”;d 
gkssrk gS& 

¼d½ fueksfu;k  ¼[k½ eysfj;k 
¼x½ [kljk              ¼?k½ Vk;QkbM 

 

44. “kjhj dh lcls cM+h xzafFk dkSu gS & 

¼d½ ;d`r  ¼[k½ vkek”k; 
¼x½ vXuk”k;  ¼?k½ fdMuh 
 

45. ;d`r esa fdldk laxzg ugha gksrk & 

¼d½ foVkfeu  ¼[k½ izksVhu 
¼x½ olk   ¼?k½ dkcksZgkbMªsV 

 

 

 
 
 

37. Which organs are most affected by tuberculosis? 
(a) Bones  (b) Intestine 

      (c) Lungs  (d) Ribs 
 
 
38. How much stock count decrease in fever? 

(a) Fat  (b) Glycogen 
      (c) Mineral  (d) Protein 
 
 
39. Whose metabolism increase in fever? 

(a) Carbohydrate (b) Fat 
      (c) a and b  (d) Protein 
 

40. Tuberculosis has fever- 
(a) High  (b) Low 

      (c) Normal  (d) Abnormal 
 
 
41. By eating, which nutritious element the stores of 

glycogen are replenished? 
(a) Fat  (b) Vitamin 

      (c) Protein   (d) Carbohydrate 
 
 
42. Typhoid disease is related to which organ? 

(a) Lungs  (b) Small intestine 
      (c) Heart  (d) Eyes 
 
 
43. In which disease a balanced and nutritious diet is 

very much needed? 
(a) Nimoniya  (b) Malaria 

      (c) Measles  (d) typhoid 
 
 
44. Which is the largest gland in body? 

(a) Liver  (b) Stomach 
      (c) Pancreas (d) Kidney 
 

45. What is not stored in the liver? 
(a) Vitamin  (b) Protein 

      (c) Fat  (d) Carbohydrate



 

 

46. ;d`r esa fdldk laxzg d{k gksrk gS & 

¼d½ foVkfeu ,  ¼[k½ foVkfeu ch 
¼x½ foVkfeu lh  ¼?k½ foVkfeu Mh 

 

47. fdl jksx dh fLFkfr esa dkcksZt dh ek=k nh tkuh pkfg,& 

¼d½ ihfy;k  ¼[k½ Vk;QkbM 
¼x½ [kljk  ¼?k½ risfnd 

 

48. ihfy;k jksx fdl xzafFk ls lacaf/kr gS & 

¼d½ vXuk”k;  ¼[k½ ;d`r 
¼x½ vkar   ¼?k½ vek”k; 

 

49. gsisVkbfVl jksx fdl xazfFk ls lacaf/kr gS& 

¼d½ fiRrk”k;  ¼[k½ vXuk”k; 
¼x½ xqnkZ   ¼?k½ ;dr̀  

 

50. fljksfll fdl vax ls lacaf/kr gS& 

¼d½ ;d`r  ¼[k½ vXuk”k; 
¼x½ vkek”k;   ¼?k½ vkWar 

 

51. eksVkis ds dkj.k g̀n; dk dk;Z D;k gks tkrk gS& 

¼d½ c<+   ¼[k½ ?kV 
¼x½ lkekU;   ¼?k½ vlkekU; 

 

52. eksVkis ls xzzLr jksxh izk;% bl n`f’V ls ck/kkxzLr gksrs gS& 

¼d½ lkekftd n`f’V ls ¼[k½ euksoSKkfud n`f’V ls  
¼x½ O;ogkfjd ǹf’V ls   ¼?k½ buesa ls dksbZ ugha 

 

53. eksVs yksxksa esa izk;% jksx ik;k tkrk gS & 

¼d½ jrkSa/kh  ¼[k½ osjh&osjh 
¼x½ LdohZ  ¼?k½ xkmV ,oa MkbfcVht 

 

54. eksVkik ukiusa ds fy, fdl ;a= dk iz;ksx fd;k tkrk gS& 

¼d½ dSfyij  ¼[k½ FkekZehVj 
¼x½ baphVsi  ¼?k½ ck;ksehVj 
 
 
 
 
 
 
 

46. Liver is the storage chamber of - 
(a) Vitamin A  (b) Vitamin B 

      (c) Vitamin C (d) Vitamin D 
 
 
47. In which disease condition carbose intake should be 

given? 
(a) Jaundice  (b) Typhoid 

      (c) Measles   (d) Tuberculosis 
 
48. Jaundice disease is related to which gland? 

(a) Pancreas  (b) Liver 
      (c) Intestine  (d) Stomach 
 

49. Hepatitis disease is related to which gland? 
(a) Gall bladder (b) Pancreas 

      (c) Kidney   (d) Liver 
 
 
50. Cirrhosis is disease related to which organ? 

(a) Liver  (b) Pancreas 
      (c) Stomach  (d) Intestine 
 
 
51. What is the function of heart due to obesity? 

(a) More  (b) Less 
      (c) Normal   (d) Abnormal 
 
 
52. Obese patient are often flooded with which vision? 

(a) Social  (b) Psychological 
      (c) Practical  (d) None of these 
 
 
53. The disease is often found in obese people is- 

(a) Night blindness (b) Beri-Beri 
      (c) Scurvy  (d) Gout & Diabetes 
 

54. Which equipment is in used to measure obesity? 
(a) Calliper  (b) Thermometer 

      (c) Inch tape  (d) Bio meter



 

 

55. eksVkis ds mipkj dk ewy ea= D;k gS& 

¼d½ dSyksjh dh ek=k de djuk 
¼[k½ “kkjhfjd Je vf/kd djuk 
¼x½ olk;qDr Hkkstu djuk  
¼?k½d rFkk [k nksuksa 

 

56. e/kqesag chekjh dk laca/k fdl fdz;k ls gS& 

¼d½ “kkjhfjd  ¼[k½ p;kip; 
¼x½ ikpd  ¼?k½ ekufld 

 

57. fdldh deh ds dkj.k dkcksZt inkFkZ dk p;kip; ugha 
gks ikrk& 

¼d½ jDr dh  ¼[k½ gkeksZu dh 
¼x½ olk dh   ¼?k½ mi;qDr lHkh 

 

58. ckj&ckj vf/kd ek=k esa ew= dk gksuk vFkkZr & 

¼d½ ikyh;wfj;k  ¼[k½ Xykbdkslwfj;k 
¼x½ cq[kkj  ¼?k½ buesa ls dksbZ ugha 

 

59. e/kqesag chekjh esa fdldk p;kip; ugha gks ikrk gS& 

¼d½ izksVhu  ¼[k½ dkcksZgkbMsªV 
¼x½ olk   ¼?k½ [kfut yo.k 

 

60. e/kqesag chekjh esa fdldh ek=k de nsuh pkfg, & 

¼d½ izksVhu  ¼[k½ dkcksZgkbMsªV  
¼x½ oklk  ¼?k½ [kfut yo.k 

 

61. bUlqfyu fdl chekjh esa fn;k tkrk gS & 

¼d½ e/kqesag  ¼[k½ Mk;fj;k 
¼x½ dCt               ¼?k½ cq[kkj 

 

62. jDr esa Xywdkst dk c<+uk vFkkZr & 

¼d½ ikyh;wfj;k  ¼[k½ Xykbdkslwfj;k 
¼x½ ihykfMIlh;k  ¼?k½ Mk;fcfjd dksek 

 

63. jDrnkc jksx dk y{k.k fdlls lacaf/kr ekuk x;k gS & 

¼d½ gfM~M;ksa  ¼[k½ vkWarksa 
¼x½ g`n;  ¼?k½ QsQM+ksa 
 
 
 
 

55. What is the basic mantra of obesity treatment? 
(a) Reduce amount of calorie 
(b) More physical labour 

      (c) Take fat rich food  
       (d) Both a & b 
 
 
56. Diabetes is related to which activity? 

(a) Physical  (b) Metabolism 
      (c) Digestion  (d) Mental 
 
 
57. Carbose cannot metabolize due to deficiency of? 

(a) Blood  (b) Hormone 
      (c) Fat   (d) All the above 
 

 

58. Frequent and excessive amount of urine means- 
(a) Polyuria  (b) Glycosuria 

      (c) Fever   (d) None of these 
 
59. What is not able to metabolized in diabetes? 

(a) Protein  (b) Carbohydrate 
      (c) Fat   (d) Mineral 
 
 
60. Which quantity should be given less in diabetes? 

(a) Protein  (b) Carbohydrate 
      (c) Fat   (d) Mineral 
 
 
61. In which disease is insulin given? 

(a) Diabetes  (b) Diarrhoea 
      (c) Constipation (d) Fever 
 
 
62. Increased blood glucose means? 

(a) Polyuria  (b) Glycosuria 
      (c) Ploydipsia  (d) Diabetic coma 
 

63. The symptom of blood pressure disease is believed 
to be related the- 
(a) Bones  (b) Intestine 

      (c) Heart   (d) Lungs



 

 

64. jDrnkc esa  varj c< tk;s rFkk og c<+k gqvk varj 
fujarj gksrk jgs rks D;k gksrk gS& 

¼d½ mPp jDrpki ¼[k½ e/;e jDrpki 
¼x½ fuEu jDrpki ¼?k½ lkekU; jDrpki 

 

65. ,FksjksDysjksfll fdlls lacaf/kr gS & 

¼d½ gfM~M;ksa  ¼[k½ vkWarksa 
¼x½ g`n;  ¼?k½ QsQM+ksa 

 

66. jDrpki fdlls ukik tkrk gS & 

¼d½ dSyksjhehVj  ¼[k½ LQSxekseSuksehVj 
¼x½ FkekZehVj  ¼?k½ buesa ls dksbZ ugha 

 

67. lkekU; jDrpki fdruk gksrk gS & 

¼d½ 120@80 mm Hg ¼[k½ 140@100 mm Hg 

¼x½ 160@80 mm Hg ¼?k½ 100@80 mm Hg 

 

68. ch0,e0vkbZ0 dk iwjk ukEk D;k gS& 

¼d½ ckMh ekl baMsDl ¼[k½ ckMh ekl bDljlkbM 
¼x½ osly ekl baMsDl ¼?k½ osly esVkcksfyd baMsDl 

 

69. fdldh deh ls dkcksZt dk p;kip; Bhd izdkj ls ugha 
gks ikrk gS& 

¼d½ FkkjkDlhu  ¼[k½ balqyhu 
¼x½ jkbcks¶ysfcu  ¼?k½ izksVhu 

 

70. balqfyu gkeksZu dk fuekZ.k dgkWa gksrk gS& 

¼d½ vXuk”k;  ¼[k½ vkek”k; 
¼x½ ;d`r              ¼?k½ xqnkZ 

 

71. e/kqesag dk y{k.k ugha gS & 

¼d½ Xyk;dkslwfj;k ¼[k½ ikyh;wfj;k 
¼x½ vf/kd I;kl yxuk ¼?k½ cq[kkj 

 

72. ,FksjksLDysjksfll esa jDr ufydkvksa esa fdldk teko gks 
tkrk gS & 

¼d½ dksysLVªky  ¼[k½ dksysLVªe 
¼x½ izksVhu  ¼?k½ foVkfeu 
 
 
 
 

64. If symptom of blood pressure disease increase and 
that widening difference continuous, then what 
happen? 
(a) High Blood pressure  
(b) Medium Blood pressure 

      (c) Low Blood pressure   
      (d) Normal Blood pressure 
 
65. Atherosclerosis is related to- 

(a) Bones  (b) Intestine 
      (c) Heart   (d) Lungs 
 
66. Blood pressure is measured through- 

(a) Calorimeter (b) Sphygmomanometer 
      (c) Thermometer  (d) None of these 
 
67. What is normal range of normal blood pressure? 

(a) 120/80 mm Hg (b) 140/100 mm Hg 
      (c) 160/80 mm Hg  (d) 100/80 mm Hg 
 
 
68. What is full form of BMI 

(a) Body Mass Index (b) Body Mass Exercise 
      (c) Basel Mass Index(d) Basel Metabolic Index 
 
 
69. Carbose can not metabolized due to deficiency of- 

(a) Blood  (b) Hormone 
      (c) Fat  (d) All the above 
 
 
 
70. Where is insulin formed? 

(a) Pancreas  (b) Stomach 
      (c) Liver   (d) Kidney 
 
 
71. Symptom of diabetes is not- 

(a) Glycosuria (b) Polyuria 
      (c) Polydipsia  (d) Fever 
 

72. In atherosclerosis what get deposited in blood 
vessels? 
(a) Cholesterol (b) Colostrums 

      (c) Protein  (d) Vitamin



 

 

73. fdl izdkj ds O;fDr esa g`n; jksx dh lEHkkouk c< tkrh 
gS& 

¼d½ eksVs O;fDr  ¼[k½ nqcys O;fDr 
¼x½ lkekU; O;fDr ¼?k½ mijksDr lHkh 

 

74. fdl jksx esa jksxh dks ,d yhVj nw/k rd fn;k tk ldrk 
gS& 

¼d½ [kljk  ¼[k½ bU¶yw,atk 
¼x½ pspd  ¼?k½ U;weksfu;k 

 

75. ;d`r dk jax dSlk gksrk gS & 

¼d½ Hkwjk&yky  ¼[k½ ihyk 
¼x½ uhyk  ¼?k½ gjk 

 

76. ey dk vf/kd ek=k esa] vf/kd iryk rFkk ckj&ckj 
fudyusa dh voLFkk dks D;k dgrs gS& 

¼d½ vfrlkj  ¼[k½ dCt 
¼x½ e/kqesag  ¼?k½ cq[kkj 

 

77. xqnsZ ds jksx esa fdldh ek=k de nsuh pkfg,& 

¼d½ foVkfeu  ¼[k½ dkcksZgkbMsªV 
¼x½ izksVhu  ¼?k½ olk 

 

78. eksVkik esa fdldh ek=k de dj nsuh pkfg,& 

¼d½ dkcksZt  ¼[k½ foVkfeu 
¼x½ [kfut yo.k  ¼?k½ buesa ls dksbZ ugha 

 

79. cq[kkj esa fdldh ek=k vf/kd nsuh pkfg,& 

¼d½ dSyksjh;qDRk vkgkj ¼[k½ olk;qDr vkgkj 
¼x½ bUlqyhu            ¼?k½ mijksDr lHkh 

 

80. vfrlkj esa fdl izdkj dk vkgkj ysuk pkfg,& 

¼d½ vf/kd js”ks;qDr vkgkj¼[k½ de js”ks;qDr vkgkj 
¼x½ olk;qDr vkgkj ¼?k½ mijksDr lHkh 
 

81. dCt esa fdl izdkj dk vkgkj ysuk pkfg, & 

¼d½ vf/kd js”ks;qDr vkgkj¼[k½ de js”ks;qDr vkgkj 
¼x½ olk;qDr vkgkj ¼?k½ mijksDr lHkh 
 
 
 
 

73. What type of person has increased risk of heart 
disease? 
(a) Obese person (b) Thin person 

      (c) Normal person  (d) All the above 
 
 
74. In which disease patient can be given upto 1 liter of 

milk? 
(a) Measles  (b) Influenza 

      (c) Chicken pox  (d) Pneumonia 
 
 
75. What is the colour of the liver? 

(a) Brown-Red (b) Yellow 
      (c) Blue  (d) Green 
 

76. What is the condition of excessive and frequent 
passing of stool called? 
(a) Diarrhoea (b) Constipation 

      (c) Diabetes  (d) Fever 
 
 
77. What quantity should be reduce in kidney disease? 

(a) Vitamin  (b) Carbohydrate 
      (c) Protein  (d) Fat 
 
 
78. What quantity should be reduce in obesity? 

(a) Carbose  (b) Vitamin 
      (c) Mineral  (d) None of these 
 
 
79. What quantity should be given more in fever? 

(a) Calorie rich food (b) Fat rich diet 
      (c) Insulin   (d) All the above 
 
 
80. What type of diet should be taken in diarrhoea? 

(a) High residue diet (b) Low residue diet 
      (c) Fat rich diet (d) All the above 
 

81. What type of diet should be taken in constipation? 
(a) High residue diet (b) Low residue diet 

      (c) Fat rich diet (d) All the abo



 

 

82. jDrpki esa fdl izdkj dk vkgkj ysuk pkfg,& 

¼d½ lksfM;e jfgr vkgkj ¼[k½ lksfM;e ;qDr vkgkj 
¼x½ olk;qDr vkgkj ¼?k½ mijksDr lHkh 

 

83. tc 20 izfr”kr lkekU; ls vf/kd “kjhj dk Hkkj gksrk gks 
rks og fLFkfr D;k dgykrh gS & 

¼d½ eksVkik  ¼[k½ vYiHkkj 
¼x½ e/kqesag  ¼?k½ mijksDr lHkh 

 

84. vks0vkj0,l0 dk ?kksy fdl fLFkfr esa fn;k tkrk gS& 

¼d½ fuTkZyhdj.k  ¼[k½ e/kqesag 
¼x½ eksVkik  ¼?k½ mijksDr lHkh 

 

85. fdl foVkfeu ;qDr Qyksa ,oa lfCt;ksa ds iz;ksx ls Hkh 
dCt nwj gksrk gS& 

¼d½ foVkfeu ,  ¼[k½ foVkfeu ch 
¼x½ foVkfeu lh  ¼?k½ foVkfeu Mh 

 

86. fdldks lnSo vk;q] fyax ,oa O;olk; ds vuqlkj ysuh 
pkfg,& 

¼d½ izksVhu  ¼[k½ foVkfeu 
¼x½ olk   ¼?k½ dSyksjh 

 

87. ftu O;fDr;ksa dk ch0,e0vkbZ0 18-5 ls de gksrk gS og 
fdlls fu:fir fd;k tkrk gS& 

¼d½ vf/kdHkkfjrk  ¼[k½ eksVkik 
¼x½ vYiHkkj  ¼?k½ mijksDr lHkh 

 

88. gsisVkbfVl fdlls QSyrk gS& 

¼d½ ladzfer [kk| inkFkZ o ty 
¼[k½ ySafxd laidZ ¼x½ jDr ds ek/;e ls 
¼?k½ mijksDr lHkh 

 

89. Ropk fdl jksx esa ihyh gks tkrh gS & 

¼d½ ihfy;k  ¼[k½ e/kqesag 
¼x½ vfrlkj  ¼?k½ mijksDr lHkh 

 

90. izks<+ LoLFk O;fDr dk izdaqpu nkc fdruk gksrk gS& 

¼d½ 80&90 rd  ¼[k½ 90&95 rd 
¼x½ 90&100 rd  ¼?k½ 110&130 rd 
 
 

82. What type of diet should be taken in blood 
pressure? 
(a) Sodium free diet (b) Sodium rich diet 

      (c) Fat rich diet  (d) All the above 
 
83. When 20% of the body weight is more than the 

usual, then the condition is called? 
(a) Obesity  (b) Underweight 

      (c) Diabetes  (d) All the above 
 
 
84. In which condition solution of ORS is given? 

(a) Dehydration (b) Diabetes 
      (c) Obesity  (d) All the above 
 

85. Constipation is also remove by the use of which 
vitamin rich fruits and vegetables- 
(a) Vitamin A  (b) Vitamin B 

      (c) Vitamin C (d) Vitamin D 
 
 
86. What should always take according to age, gender 

and occupation? 
(a) Protein  (b) Vitamin 

      (c) Fat   (d) Calorie 
 
 
87. Person whose BMI is less than 18.5 are denoted 

by? 
(a) Overweight (b) Obesity 

      (c) Underweight  (d) All the above 
 
 
88. Hepatitis A is transmitted by- 

(a) Spoiled food & water 
(b) Sexual relation 

      (c) Blood (d) All the above 
 
 
89. In which disease does the skin turn yellow? 

(a) Jaundice  (b) Diabetes 
      (c) Diarrhoea (d) All the above 
 

90. The systolic pressure of an healthy adult is- 
(a) Till 80-90 l (b) Till 90-95  

      (c) Till 90-100  (d) Till 110-130



 

 

91. ikpu laca/kh jksx ugha gS& 

¼d½ dCt  ¼[k½ vfrlkj 
¼x½ e/kqesag  ¼?k½ mijksDr lHkh 

 

92. fiRr jl fdl chekjh esa c<+ tkrh gS& 

¼d½ Mk;fj;k  ¼[k½ e/kqesag 
¼x½ ihfy;k  ¼?k½ eksVkik 

 

93. fdl fdz;k”khyrk esa ikSf’Vd rRoksa dh ekWax vf/kd gksrh 
gS& 

¼d½ ekufld  ¼[k½ “kkjhfjd 
¼x½ ckSf)d  ¼?k½ oS;fDrd 

 

94. vf/kd fdz;k”hy dh Js.kh esa fdl oxZ ds yksx vkrs gS& 

¼d½ etnwj rFkk f[kykM+h ¼[k½ MkDVj rFkk bathfu;j 
¼x½ DydZ rFkk f[kykM+h ¼?k½ vkWfQlj rFkk lkgwdkj 

 

95. mPp vk;oxZ ds L=h iq:’k fdl oxZ esa vkrs gS& 

¼d½ de fdz;k”khyrk ds ¼[k½ vf/kd fdz;k”khyrk ds 
¼x½ e/;e fdz;k”khyrk ds ¼?k½ buesa ls dksbZ ugha 

 

96. fdz;k”khyrk ds vk/kkj ij L=h iq:’k dks fdrusa Hkkxksa esa 
ckWaVk x;k gS& 

¼d½ ,d   ¼[k½ rhu 
¼x½ ikWap   ¼?k½ lkr 

 

97. chekjh ds fnuksa esa “kjhj dh fdz;k”khyrk& 

¼d½ de gks tkrh gS ¼[k½ c<+ tkrh gS 
¼x½ :d tkrh gS        ¼?k½ buesa ls dksbZ ugha 

 

98. f”k”kq dk izksVhu izks<+ O;fDr;ksa dh rqyuk esa dSlk gksrk gS& 

¼d½ de   ¼[k½ leku 
¼x½ vf/kd  ¼?k½ cgqr de 

 

99. gsisVkbfVl lh fdlds ek/;e ls “kjhj esa izos”k djrk gS& 

¼d½ jDr ds ek/;e ls ¼[k½ ladzfer [kk| inkFkksZ ls 
¼x½ ySafxd laidZ }kjk ¼?k½ mi;qZDr lHkh 
 

100- e/kqesag dk dkj.k gS & 

¼d½ oa”kkuqxr  ¼[k½ eksVkik 
¼x½ ekufld ruko ¼?k½ mi;qZDr lHkh 
 

91. Which of the following is not a digestive disease? 
(a) Constipation (b) Diarrhoea 

      (c) Diabetes  (d) All the above 
 
 
92. In which disease does bile juice increase? 

(a) Diarrhoea (b) Diabetes 
      (c) Jaundice  (d) Obesity 
 
 
93. In which activity the demand of nutrient is high? 

(a) Mental  (b) Physical 
      (c) Intelligence (d) Individual 
 

94. Which class of people comes in the category of 
more active? 
(a) Labour & Player(b) Doctor & Engineer 

      (c) Clark & Player   (d) Officer & Sahukar 
 
95. In which category do men and women of high 

income group? 
(a) Low Physical activity   
(b) High physical activity 

      (c) Medium physical activity 
      (d) None of these 
 
96. Into how many parts are men and women divided on 

the basis of activity? 
(a) One  (b) Three 

      (c) Five  (d) Seven 
 
97. Activity of the body during the days of illness is- 

(a) Reduced  (b) Increased 
      (c) Stopped  (d) None of these 
 
 
98. How does a baby’s protein compare to an adult’s? 

(a) Less  (b) Equal 
      (c) More   (d) Very less 
 
99. Through what does hepatitis C enter in the body? 

(a) Through blood (b) Through spoiled food 
      (c) By sexual relation(d) All the above 
 
 
100.Cause of diabetes is- 

(a) Hereditary (b) Obesity 
      (c) Mental stress (d) All the above 



 

 

101. vkgkj fpfdRlk esa iz;qDr vkgkj dks dgrs gS& 

¼d½ fpfdRlh; vkgkj ¼[k½ jksxh vkgkj 
¼x½ vkgkj foKku ¼?k½ dksbZ Hkh ugha 

 

102. vkgkj fpfdRlk esa fdldk ;ksxnku ugha gksrk gS& 

¼d½ Mk;fVf”k;u  ¼[k½ MkWDVj 
¼x½ ifjpkfjdk  ¼?k½ x`gLokeh 

 

103. vkgkj fpfdRlk esa dkSu ls Lo:iksa esa vkgkj ugha fn;k 
tkrk gS 

¼d½ iw.kZ rjy vkgkj ¼[k½ iw.kZ dBksj vkgkj 
¼x½ rjy vkgkj  ¼?k½ e`n` vkgkj 

 

104. fdl foVkfeu dh deh ls euq’; Lo;a dks Fkdk eglwl 
djrk gS 

¼d½ foVkfeu ,  ¼[k½ foVkfeu ch 
¼x½ foVkfeu b  ¼?k½ foVkfeu ds 

 

105. fdl vk;q oxZ esa Vh-Ckh- jksx gks ldrk gS 
¼d½ 0&10 o’kZ  ¼[k½ 15&25 o’kZ 
¼x½ 25&40 o’kZ  ¼?k½ fdlh Hkh mez esa 

 

106. fdl fpfdRlk esa Mk;Vhf”k;u] MkWDVj rFkk ifjpkfjdk 
rhuksa dk fo”ks’k ;ksxnku gksrk gS 

¼d½ larqfyr fpfdRlk esa ¼[k½ vkgkj fpfdRlk esa 
¼x½ “kY; fpfdRlk esa ¼?k½ buesa ls dksbZ ugha 

 

107. vYlj ;k ikpu ra= laca/kh jksxksa ls ihfM+r O;fDr;ksa dks 
yEch chekjh ds ckn iF; dh fLFkfr esa fn;k tkrk gS 

¼d½ lkSE; vkgkj  ¼[k½ e`nw vkgkj 
¼x½ iw.kZ rjy vkgkj     ¼?k½ rjy vkgkj 

 

108. pspd gksussa dk dkj.k gS 
¼d½ :fcvksyk ok;jl ¼[k½ oSfjvksyk ok;jl 
¼x½ oSfjlsyk okbjl ¼?k½ feDlks okbjl 

 

109. bZ-bZ-th- ls ftl vax dh dk;Z iz.kkyh izdV gksrh gS] og 
gS 

¼d½ g`n;  ¼[k½ efLr’d 
¼x½ dku   ¼?k½ ;dr̀ 
 
 
 
 
 

101. The diet used in diet therapy is called- 
(a) Diet therapy (b) Patient’s diet 

      (c) Dietetics  (d) None of these 
 
 
102. Who does not contribute to diet therapy? 

(a) Dietician  (b) Doctor 
      (c) Nurses   (d) House owner 
 
 
 
103. What are the forms of diet therapy in which diet 

is not given? 
(a) Full liquid diet (b) full solid diet 

      (c) liquid diet  (d) soft diet 
 

104. Deficiency of which vitamin makes a person 
feel tired? 
(a) Vitamin A  (b) Vitamin B 

      (c) Vitamin E (d) Vitamin K 
 
105. In what age group can TB disease occur? 

(a) 0 to 14 years (b) 15-25 years 
      (c) 25-40 years  (d) in any age 
 
 
106. In which medical dieticians, doctors and nurses 

have a special contribution? 
(a) In balanced therapy(b) In diet therapy 

      (c) In surgery (d) None of these 
 
 
107. People suffering from ulcers and diseases 

related to digestive is given- 
(a) Bland diet (b) Soft diet 

      (c) Complete liquid diet 
      (d) liquid diet 
 
 
108. Causes of small Pox is- 

(a) Rubiolla virus (b) Variolla virus 
      (c) Varisella virus  (d) Mixso virus 
 

109. The organ whose function is manifested by 
EEG is- 
(a) Heart  (b) Brain 

      (c) Ear   (d) Liver



 

 

110. fdl rRo dh deh ds dkj.k ?ksa?kk jksx gks tkrk gS 
¼d½ ukbVªkstu  ¼[k½ dSfYl;e 
¼x½ vk;ksMhu  ¼?k½ QkWLQksjl 

 

111. fuEu esa ls fdldh deh ls fjdsV~l gksrk gS 
¼d½ foVkfeu Mh  ¼[k½ foVkfeu lh 
¼x½ foVkfeu ds  ¼?k½ foVkfeu , 

 

112. fuEufyf[kr esa ls dkSu lk jksx dsoy oa”kkuqxr lapkfjr 
gS 

¼d½ ek;ksdkfMZ;y baQsDlu¼[k½ Mk;fofVt esfyV~l 
¼x½ fgeksfQfy;k  ¼?k½ dSalj 

 

113. iks’kd ewY;ksa dh rkfydk fdlusa izLrqr dh gS 
¼d½ ukjk;.ku  ¼[k½ lkh0 xksikyu 
¼x½ mijksDr nksuksa ¼?k½ buesa ls dksbZ ugha 

 

114. ßeksVkik Hkkstu dh ek=k ij fuHkZj ugha djrk vfirq 
dSyksjh dh ek=k ij fuHkZj djrk gSAß ;g dFku fdldk 
gS 

¼d½ ukjk;.ku  ¼[k½ lh0 xksikyu 
¼x½ vkaf”k;k  ¼?k½ buesa ls dksbZ ugha 

 

115. eysfj;k vkerkSj ij fdu izns”kksa esa T;knk gksrk gS 
¼d½ “khrks’.k izns”kksa esa ¼[k½ le”khrks’.k izns”kksa esa 
¼x½ vknzZ izns”kksa esa ¼?k½ m’.k izns”kksa esa 

 

116. fuEu esa ls fdl izdkj dh Vh-ch- ladzked gksrh gS 
¼d½ QsQM+ksa dh  ¼[k½ vfLFk dh 
¼x½ vkWar dh            ¼?k½ mijksDr lHkh 

 

117. fuEu esa ls dkSu lk Vk;QkbM dk “kq:vkrh y{k.k gS 
¼d½ rst cq[kkj  ¼[k½ rst flj nnZ 
¼x½ ekalisf”k;ksa esa nnZ ,oa [kklh   
¼?k½ mijksDr lHkh 

 

118. olk esa ?kqyu”khy foVkfeu gksr gS 
¼d½ VksdksQsjkSy] fuvkflu] fl;kuksdksckykfeu  
¼[k½ dSfYlQsjksy] dsjksfVu] VksdksQsjkSy 
¼x½ ,LdkfcZd ,flM] dSfYlQsjksy] jkbcks¶ysfou 
¼?k½ Fkk;feu] dsjksfVu] ck;ksfVu 
 

110. Deficiency of which element or nutrient causes 
goitre disease? 
(a) Nitrogen  (b) Calcium 

      (c) Iodine   (d) Phosphorus 
 
111. Rickets is caused by the deficiency of which of 

the followings? 
(a) Vitamin D  (b) Vitamin C 

      (c) Vitamin K  (d) Vitamin A 
 
112. Which of the following diseases is transmitted 

through only hereditary? 
(a) Mayocardial infection(b) Diabetes Mellitus 

      (c) Haemophilia (d) Cancer 
 

113. List of nutritive value book represented by- 
(a) Narayanan (b) C. Gopalan 

      (c) Both a & b (d) None of them 
 
 
114. “Obesity does not depend on the amount of 

food but on the amount of calories” it is said by- 
(a) Narayanan (b) C. Gopalan 

      (c) Antia   (d) None of them 
 
115. In which regions malaria usually more 

prevalent? 
(a) In tropical climate (b) In sub-tropical climate 

      (c) In humid temperature    
      (d) In dry temperature 
 
116. Which of the following type of T.B. is 

contagious? 
(a) Pumonary T.B. (b) Bone T.B. 

      (c) Intestinal T.B. (d) All of the above 
 
 
117. Which of the following is a starting symptom of 

Typhoid? 
(a) High fever (b) Severe headache 

      (c) Pain in muscles & cough   
      (d) All of above 
 
118. Fat soluble vitamins are- 

(a) Tocopherol, Niacine’ Cynocobalamin  
(b) Calcipherol, Kerotin, Tocopherol 

      (c) Ascorbic acid, Calcipherol, Riboflabin  
      (d) Thiamine, Kerotine, Biotin



 

 

119. foVkfeu *ds* izpwj ek=k esa ik;k tkrk gS 
¼d½ nw/k esa  ¼[k½ xsgwWa ds pksdj esa 
¼x½ vkWaoyk esa  ¼?k½ iihrk esa 

 

120. dCt dk izeq[k dkj.k gS 
¼d½ fdlh fo”ks’k pht ds [kkusa ls  
¼[k½ LFkku ds cnyko ;k lkaosfxd dkj.kksa ls 
¼x½ O;k;ke dh deh ls ;k xyr vknrksa ls 
¼?k½ mijksDr lHkh 

 

121. vkaf”k;k ds vuqlkj dCt dk dkj.k gS 
¼d½ ,tksfud  ¼[k½ LikfLVd 
¼x½ O;o/kkfud     ¼?k½ mi;qZDr lHkh  

 

122. dksysLVsjksy gS 
¼d½ i.kZgfjr dk izdkj ¼[k½ DyksjksQkeZ dk izdkj 
¼x½ tarq olk esa mifLFkr olh; vYdksgy  
¼?k½ dzksfe;e yo.k 

 

123. “kjhj esa lwtu dh voLFkkvksa esa dSlk vkgkj fn;k tkrk gS 
¼d½ mPp olk;qDr ¼[k½ fuEu lksfM;e okyk 
¼x½ dSfYl;e jfgr ¼?k½ mi;qZDr esa ls dksbZ ugha 

 

124. f”k”kq dk g`n; dc pkj [kkuksa ¼dks’Bksa½ esa cWaV tkrk gS 
¼d½ xHkZ ds ikWapos lIrkg esa 
¼[k½ xHkZ ds lkros lIrkg esa 
¼x½ xHkZ ds uos lIrkg esa 
¼?k½ tUe ysusa ds lkFk 

 

125. g`n; dh iafiax {kerk de gksusa dk irk yxk;k tk ldrk 
gS 

¼d½ dkfMZ;ksek;ksiSFkh }kjk ¼[k½ fefuey dkfMZ;ksxzkQh }kjk 
¼x½ bdksdkfMZ;ksxzkQh }kjk ¼?k½ okbukdwyj LisDVªksxzkQh  

 

126. v”oxa/kk fdl izdkj ds jksxksa dks nwj djus es osgn dkjxkj 
gSA 

¼d½ ruko tfur jksx  ¼[k½ gM~Mh ls lacaf/kr jksx 
¼x½ vkWa[k ls lacaf/kr jksx ¼?k½ fdlh Hkh izdkj dk nnZ 

 

127. fdl _rq esa v”oxa/kk ds ikS/ks esa Qwy vkrs gS 
¼d½ “kjn _rq esa  ¼[k½ xzh’e _rq esa  
¼x½ olar _rq esa  ¼?k½ o’kkZ _rq esa 
 
 

119. Vitamin K found in abundant in- 
(a) Milk  (b) Wheat bran 

      (c) Amla   (d) Papaya 
 
 
120. The main cause of constipation is- 

(a) Eating something special 
(b) Change in location or by emotional causes 

      (c) Lack of exercise or by wrong habits   
      (d) All of the above 
 
 
121. Causes of constipation according to Antia- 

(a) Azonic  (b) Spastic 
      (c) Bywdhanik  (d) All the above 
 
122. Cholesterol is- 

(a) Type of foliage (b) Type of chloroform 
      (c) Alcohol present in animal fat 

(d) Chromium mineral 
 
 
123. Which kind of diet is given in the stages of 

inflammation in the body? 
(a) High fat diet (b) Low sodium diet 

      (c) Calcium free diet (d) None of the above 
 
124. When does the baby’s heart split into 4 

chembers? 
(a) In the fifth week of pregnancy   
(b) In the seventh week of pregnancy 

      (c) In the ninth week of pregnancy  
      (d) with birth 
 
125. Decreased pumping capacity of the heart can 

be detected by- 
(a) Cardiomayopathy (b) Minimal cardiography 

      (c) Ecocardiography (d) Winacoolar spectrography 
 
 
126. Ashwagandha is very effective in curing which 

types of diseases? 
(a) Stress related (b) Bone related 

      (c) Eye related (d) Any types of pain 
 

127. In which season ashwagandha plant gives 
flowers? 
(a) Winter season (b) Summer season 

      (c) Spring season (d) Rainy season



 

 

128. Efgykvksa esa gkVZ vVSd dh laHkkouk fdl mez ds ckn 
izcy gks mBrh gS 

¼d½ 35 o’kZ ds ckn ¼[k½ 40 o’kZ ds ckn 
¼x½ 45 o’kZ ds ckn ¼?k½ 50 o’kZ ds ckn 

 

129. g`n; jksxksa vkSj /kefu;ksa ls lacaf/kr :dkoV dk lQy 
bykt laHko gS 

¼d½ ,aft;ksIykLVh }kjk ¼[k½ ckbZikl ltZjh }kjk 
¼x½ mijksDr nksuksa }kjk ¼?k½ buesa ls dksbZ ugha 

 

130. fny dk nkSjk fdl dkj.k ls gksrk gS 
¼d½ g`n; ij ftok.k dk geyk   
¼[k½ g`n; xfr dk :d tkuk 
¼x½ g`n; esa jDr vkiwfrZ dh deh   
¼?k½ vKkr dkj.kksa ls g̀n; esa ck/kk vkuk 

 

131. Mk;fofVt dh f”kdk;r gksus ij fuEu esa ls dkSu lh 
chekjh iSnk gks ldrh gS 

¼d½ mPp jDrpki laca/kh ¼[k½ g̀n; laca/kh 
¼x½ mijksDr nksuksa ¼?k½ buesa ls dksbZ ugha 

 

132. Mk;fofVt ,d------------------------------jksx gS 
¼d½ vYidkyhu  ¼[k½ nh?kZdkyhu 
¼x½ mijksDr nksuksa ¼?k½ buesa ls dksbZ ugha 

 

133. “kdZjk ;qDr HkkT; inkFkZ gksrk gS 
¼d½ jktek  ¼[k½ pqdanj 
¼x½ vkyw  ¼?k½ puk 

 

134. ,d xzke olk esa mtkZ mRiUu gksrh gS 
¼d½ 5 dSyksjh   ¼[k½ 20 dSyksjh 
¼x½ 9 dSyksjh           ¼?k½ 50 dSyksjh 

 

135. fdlds dkj.k ?kh B.Ms ekSle esa te tkrk gS 
¼d½ lar`Ir olh; vEy ¼[k½ vlar`Ir olh; vEy 
¼x½ ukfj;y rsy feykoV ¼?k½ buesa ls dksbZ ugha 

 

136. lks;kohu ,oa xsgwWa dk vkVk esa ls izR;sd ds 100 xzke esa 
mifLFkr olk dh ek=k gksrh gS 

¼d½ 47 xzke  ¼[k½ 80 xzke 
¼x½ 20 xzke  ¼?k½ 31 xzke 
 

128. At what age does the risk of heart attack 
increase in women? 
(a) After 35 years (b) After 40 years 

      (c) After 45 years (d) After 50 years 
 
 
129. Successful treatment of heart diseases and 

artery-related blockage is possible- 
(a) by Angioplasty (b) by bypass surgery 

      (c) Both (a) & (b)  (d) None of them 
 
 
130. What causes a heart attack? 

(a) Bacterial attack on heart   
(b) Heart failure 

      (c) Lack of blood in the heart  
      (d) Heart failure due to unknown reasons 
 
131. Which of the following diseases can arise due 

to diabetes? 
(a) High blood pressure related   
(b) Heart related disease 

      (c) Both (a) & (b) (d) None of them 
 
 
132. Diabetes is a...............disease. 

(a) Short term disease(b) Long term disease 
      (c) Both (a) & (b)  (d) None of them 
 
 
133. Sugary food are- 

(a) Rajma  (b) Beetroot 
      (c) Potato  (d) Chana 
 
 
134. Energy yield by one gram of fat is- 

(a) 5 calorie  (b) 20 calorie 
      (c) 9 calorie  (d) 50 calorie 
 
 
135. Due to which ghee gets frozen in cold weather? 

(a) Saturated fatty acid(b) Unsaturated fatty acid 
      (c) Mixing of coconut oil(d) None of the above 
 

136. What is the amount of fat present in 100 grams 
each of soybean & wheat flour? 
(a) 47 gram  (b) 80 gram 

      (c) 20 gram  (d) 31 gram



 

 

137. mPp dSyksjh;qDr vkgkj gS 
¼d½ jksVh] ijkBs] iwfj;kW ¼[k½ foLdqV] lsobZ] [khj 
¼x½ dks¶rs] idkSM+s vkSj lHkh ehBs Qy   
¼?k½ buesa ls lHkh 

 

138. fdl izdkj ds vkgkj esa Hkkstu dh ek=k,a de dh tkrh 
gS 

¼d½ U;wu dSyksjh;qDr vkgkj   
¼[k½ mPp dSyksjh;qDr vkgkj 
¼x½ mPp izksVhu;qDr vkgkj 
¼?k½ ihfy;k ls ihfM+r jksfx;ksa ds vkgkj 

 

139. otu de djusa okys vkgkj vk;kstu esa------------ ij dM+k 
fu;a=.k j[kuk t:jh gS 

¼d½ izksVhu  ¼[k½ olk 
¼x½ dkcksZgkbMªªsV  ¼?k½ buesa ls dksbZ ugha 

 

140. otu de djusa okys vkgkj esa------------de gksuh pkfg,& 

¼d½ dSyksjh  ¼[k½ izksVhu 
¼x½ mijksDr nksuks ls ¼?k½ buesa ls dksbZ ugha 

 

141. ihfy;k ,d izrhd gS& 

¼d½ o`Dd dh chekjh dk ¼[k½ ;d`r dh chekjh dk 
¼x½ vXuk”; dh chekjh dk¼?k½ Fkk;jkbZM dh chekjh dk
  

142. ihfy;k jksx fdls izHkkfor djrk gS 
¼d½ g`n;  ¼[k½ ;d`r 
¼x½ Iyhgk  ¼?k½ fiRrk”k; 

 

143. iihrk esa dkSu lk foVkfeu ik;k tkrk gS 
¼d½ foVkfeu ds  ¼[k½ foVkfeu Mh 
¼x½ foVkfeu ,          ¼?k½ foVkfeu ch 

 

144. ihfy;k ls ihfM+r jksfx;ksa ds fy, fu’k/k vkgkj gS 
¼d½ pk; vkSj dkWQh ¼[k½ dzhe]eD[ku]rsy vkSj ?kh 
¼x½ I;kt] dVgy] rys gq, HkksT; inkFkZ   
¼?k½ buesa ls lHkh 
 

145. fdl lw{e tho ds }kjk gsisVkbfVl ch dh chekjh gksrh 
gS 

¼d½ ok;jl  ¼[k½ izksVkstksvk 
¼x½ cSDVhfj;k  ¼?k½ buesa ls dksbZ ugha 
 

137. High calorie diet are- 
(a) Chapati, Parathe and Puries   
(b) Biscuits, Sewai and Kheer 

      (c) Khofte, Pakode and all sweet fruits  
      (d) All the above 
 
138. In which type of diet quantity of food will 

decrease? 
(a) Low calorie diet (b) High calorie diet 

      (c) High protein diet (d) Diet of Jaundice patient 
 
 
 
 
139. In weight loss diet, it is important to keep a tight 

control on- 
(a) Protein  (b) Fat 

      (c) Carbohydrate (d) None of these 
 

140. In weight loss diet, it should be low in- 
(a) Calorie  (b) Protein 

      (c) Both (a) & (b) (d) None of them 
 
 
 
141. Jaundice is a symbol of- 

(a) Kidney disease (b) Liver disease 
      (c) Pancreatic disease(d) Thyroid disease 
 
142. Whom does jaundice affect? 

(a) Heart  (b) Liver 
      (c) Spleen   (d) Gall-bladder 
 
 
143. Which vitamin present in Papaya? 

(a) Vitamin K  (b) Vitamin D 
      (c) Vitamin A (d) Vitamin B 
 
 
144. Prohibited for patients suffering from Jaundice- 

(a) Tea & coffee (b) Cream, butter, oil & ghee 
      (c) Onion, Jackfruit, oily diet  
      (d) All of them 
 

145. Which Microbe causes Hepatitis B? 
(a) Virus  (b) Protozoa 

      (c) Bacteria  (d) None of these



 

 

146. xqnsZ dh iFkjh dk irk yxrk gS 
¼d½ ,.MksLdksih ds }kjk ¼[k½ vYVªklkmaM ds }kjk 
¼x½ mijksDr nksuksa ds }kjk¼?k½ buesaa ls dksbZ ugha 

 

147. ekuo xqnZs esa iFkjh fuEufyf[kr esa ls fdldh otg ls 
curh gS 

¼d½ dSfYl;e ,lhVsV ¼[k½ dSfYl;e vkSdtsysV 
¼x½ lksfM;e ,lhVsV ¼?k½ lksfM;e csatks,V 

 

148. isfIVd vYlj dk irk yxkusa ds fy, tkWap dh tkrh gS 
¼d½ vYVªklkmaM  ¼[k½ ,.MksLdksih 
¼x½ mijksDr nksuksa ¼?k½ blesa ls dksbZ ugha 

 

149. izksVhu dk ikpu gksrk gS 
¼d½ vkek”k; vkSj NksVh vkWar esa   
¼[k½ vkek”k; vkSj cM+h vkWar esa 
¼x½ NksVh vkWar rFkk cM+h vkWar esa   
¼?k½ bueas ls dksbZ ugha  

 

150. fuEu esa ls fdl tkuoj ds dkVusa ls jscht dh chekjh 
gksrh gS 

¼d½ dqRrk  ¼[k½ fcYyh 
¼x½ canj   ¼?k½ mijksDr lHkh 
 

146. Which test detects kidney stones? 
(a) Endoscopy (b) Ultrasound 

      (c) Both (a) & (b) (d) None of these 
 
 
147. Stone in human kidney is formed due to which 

of the following? 
(a) Calcium acetate (b) Calcium oxalate 

      (c) Sodium acetate  (d) Sodium Benzoate 
 
 
148. Which test is done to detect peptic ulcer? 

(a) Ultrasound (b) Endoscopy 
      (c) Both (a) & (b) (d) None of these 
 

149. Digestion of protein is in- 
(a) Stomach and small intestine  
(b) Stomach and large intestine 

      (c) Small intestine and large intestine    
      (d) None of them 
 
 
150. Rabies disease is caused by the bite of which of 

the following animals? 
(a) Dog  (b) Cat 

      (c) Monkey  (d) All of the above

 
 


